AW\ R

B #®

THES 2023056971-10
THE# By BEFERE (1 9IR) (FAEKEERTE
FIEEHER TAEEREERR
FtLE 20241 R31H
FtLIZFR FILMEFr (AFE) SEAMRLE
TEoR &AL
e CHERGA) 352, 553, 236F4
EALE (k) LTS
ST ]

STEfE CHERKRT)

350, 320, 000F3

B TE e T 320, 502, 942/
Bfif 1 [
ARLE AfLERE (551 [E]) | A+LMHg (B52E) HEERR
(¥%k) EBT 320, 502, 942
FELEERE (BR) 320, 502, 942
(#k) LT 320, 502, 942 &AL
KT () 320, 502, 942
(%) HEHE 320, 502, 942
) F—rI—RL—3o 320, 502, 942
) =72 320, 502, 942




RAFHEELAACHTZFHERS
RiES FOFBYR TH% THG FAALE ST AE (Bt ) (F9) AR HaHiH R TEEY SEh
. emmemmen | EBARER (1 9TK) @EAVEK | EIUMHLRER, A, SRR | 4 —REEFAAL R T AR A ST — i S AALICEI T
2023056971-10 TAEERERR B Tl HH6F1 AR 350, 320, 000 (RIS ZBME 3 RE | B Y B

EAEPE (LSRR KR

KIHMEAFLFEEEMERBDHE

. FAEMEES (BN OFMER) ROMESR
e 0% | 0ETE | BB | BNE | BEHE | . s SUHRE | BEREE | #0777 | FE5 | W s | BAEAESR
A*L% >< 75 ﬁ’ﬁI%n%ﬁ Eﬁiﬁﬁzlzf:lﬁ ﬁ'ﬁlﬁﬁﬁ EE%EEEX_IE/#\ CPD(S) E%EEEIE {EE?—%E/ 1509000 150]4000 Ey«l‘ﬁﬂﬂl BEKT}J’)JJjJ %E ﬁ{%'ﬁf& :J7\7_'L\ I % ¥%|Zﬁ ’J\E+ *ﬁ%
100 2.0 3.0 2.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 2.0 3.0 23.0 123.0

e Ty 100 0.0 1.0 0.0 0.0 1.0 1.0 0.0 1.0 1.0 1.0 1.0 1.0 0.0 1.0 0.0 3.0 12.0 112.0] BECEsS
LIRS 100 1.0 3.0 1.0 1.0 1.0 0.0 0.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 0.0 2.0 16.0 116.0| EC#ES
L T 100 2.0 3.0 2.0 0.5 1.0 0.0 1.0 1.0 1.0 1.0 1.0 1.0 0.0 1.0 0.0 2.0 17.5 N7.5|  SEER
T 0 @ 100 1.0 1.0 1.0 0.5 1.0 0.0 0.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 2.0 14.5 114.5|  BECES
R EF4E 100 1.0 0.0 1.0 0.0 1.0 1.0 0.0 1.0 0.0 1.0 1.0 0.0 0.0 1.0 2.0 3.0 13.0 113.0] EC#EsS
@7_*3_”{‘/—"3 100 2.0 2.0 0.0 0.5 1.0 0.0 0.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 0.0 2.0 14.5 45| aema
W=7 100 1.0 2.0 1.0 0.0 1.0 0.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 0.0 2.0 15.0 115.0| BB
i)

MMLEZHSE | ereg - .

A*L% (ﬁﬁjﬁf) (Fr:‘) ﬁﬁhn*ﬁﬁﬁ‘n ﬁﬁén*ﬁﬁﬁ‘n rsﬁﬁ% B 7H.. picc) EE
e TR 320,502,942|  112.0 34.9450
$TEILIBESE 320,502,942|  116.0 36.1931
fiae L T3 320,502,942 117.5 36.6611 EAL
L TRl — A
T @ 320,502,942|  114.5 35. 7251 SAALICET 5BME 1 25K
U1 3%I2&3,

fRBaEF4R 320,502,942|  113.0 35,2570
#r—ha-mb—3 320,502,942| 1145 | 35.7251
W=7 ) 320,502,942|  115.0 35.8811




